
In class, we solved a computationally easier exercise. It is important that P is not symmetric; 
hence, it is not sure that there exist two linearly independent eigenvectors, and if there exist
then they are not necessarily orthogonal













If the n*n matrix M is symmetric, then all the 
eigenvalues are real, there exist n linearly 
independent eigenvectors, and their can be chosen 
to form an orthonormal system, i.e., to be 
perpendicular to each other and have length 1.











The calculations show that the first three vectors, i.e., v1,v_2,v_3 constitute a basis 
since main ones are present in the first three columns
























